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QUESTION 1

When defining Smart Folder Templates which are considered best practices? (Choose two.)

A. Use FTS query language for defining the smart folder search.

B. Use CMIS query language for defining the smart folder search.

C. If you use WebDAYV or CIFS only queries returning cm:content and subtypes should be used.
D. Don\\'t create filing rules that don\\'t match the query criteria for the folder.

E. Use Lucene query language for defining the smart folder search.

Correct Answer: AC

QUESTION 2

What happens to the original content item after a content transformation is performed?
A. It depends on how the transformation was configured.

B. It is replaced by the transformed content item.

C. Itis versioned and updated.

D. It remains untouched.

Correct Answer: A

References: http://docs.alfresco.com/5.2/references/dev-extension-points-content-transformer.htmi

QUESTION 3

Which of the following APlIs facilitate the development of a remote client that can access both Cloud and On-Premise
Alfresco Content Services repositories? (Choose two.)

A. Repository JavaScript API

B. FreeMarker Template API

C. Alfresco Content Services API
D. Public Java API

E. CMIS API

Correct Answer: AE
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QUESTION 4

You have been tasked to develop a solution that will notify an external system when updates are made to certain
documents. These documents can be of any type and the content authors will make the decision if the document needs
this "notification" functionality. Select the simplest combination steps that will implement this solution.

A. Define a new "notify" aspect with a "multi" peer association. Create and register a policy behavior that, when content
is updates, users can associate their content via this aspect. As associations are being made, the external notification
request will be triggered.

B. Define a new "notify" aspect with no properties. Create and register a policy behavior that, if this aspect is present,
will make the external notification request. Users can simply add this aspect to their content item.

C. Extend cm:content to provide an additional "notify" property. Create a policy behavior that will look at the "notify"
property and, if set, make the external notification request. Users simply create cm:content items.

D. Extend sys:base to provide an additional "notify" property. Create a new policy that will look at the "notify" property
and, if set, make the external notification request. Users can simply call an action against their content item.

Correct Answer: A

QUESTION 5

You want to execute a query in Alfresco Full-Text Search that returns only nodes with a custom text property
my:property that exactly matches 1000. Which query would be correct?

A. The correct query is: my:property:1000

B. The correct query is: =my:property:1000
C. The correct query is: !my:property:1000
D. The correct query is: ~my:property:1000

Correct Answer: A
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